C:h Multiplying Using Arrays Name:

Usethearray provided to solve each problem. Answers

1) 43x36= 2) 37x43=

1.

: 2.

E . 3

R L 4

---------------- 5

6.
3 33x22= 4) 34x45 =
5) 39x46 = 6) 36x35=

16 [83]67[50[33][17] 0]
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ﬂh Multiplying Using Arrays

Name:. Answer Key
Usethearray provided to solve each problem. Answers
1) 43x36= 2) 37x43=
1,548
30 6 40 3
E i 1,591
: 30 '
i (30 x 40) (30¥3)
40 (40x30) (40 p) 1,20 * 26
1,200 1240 ;
A N S 1,530
: ! (7 x 40) (7x[3)
3 [0 B33 55y 1,794
90 18
1,260
3 33x22= 4 34x45 =
20 2 40 5
30 (30 x 40) (3;0 x B)
i 1,200 1150
30 (30x20) (3042 :
600 50 :
i 4 [T axa0) T (&x9)
: 160 20
N Y
60 6
5) 39x46 = 6) 36x35=
40 6 30 5
30 (30 x 40) (30 §)
1,200 1180 30 (30 x 30) (30 x %)
i 900 '150
o (9 x 40) (%6
360 7 S H.
6 (6 x 30) 6x5
180 130

[ Math ] www.CommonCoreSheets.com

1-6 |83[67]50[33[17] 0 |




	Worksheet
	Answer Key

